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QUESTION 1

To which level in the typical database structure will users have the most access when using propagation? 

A. folder 

B. project 

C. module 

D. database 

Correct Answer: C 

 

QUESTION 2

Which two levels in the database structure contain attributes? (Choose two.) 

A. object 

B. project 

C. module 

D. database 

Correct Answer: AC 

 

QUESTION 3

What represents a link pairing between a source module and target module? 

A. linkset 

B. link module 

C. link indicator 

D. formalmodule 

Correct Answer: A 

 

QUESTION 4

Whichmodification to DOORS requires editing the registry keys on the server? 

A. force modules to open read-only 

B. enable archives to be saved on the server 
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C. allow user-generated tools to appear in Module menus 

D. allow user-generated tools to appear in Database Explorer menus 

Correct Answer: B 

 

QUESTION 5

Which statement is true about the Module Comparison Wizard? 

A. It can compare images. 

B. It can compare OLE objects. 

C. It can incorporate the differences into the newer module. 

D. Itcan compare a current module to any version of that module. 

Correct Answer: D 
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